
 
 
 
 
 
 
 
 
 
 
 
 
 
 

MAHLE CSC-2200 &  

CSC-4400 Models 

 
 
 
 
 
 
 
 
 
 

EN 
Operation Manual 

 

Shop crane  

 
 



 

 

en   |  2  |   CSC-2200 / CSC-4400 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

EVERY PERSON WHO OPERATES THIS 

EQUIPMENT NEEDS TO KNOW AND 

UNDERSTAND ALL OF THE INFORMATION IN 

THIS MANUAL – FAILURE TO DO SO COULD 

RESULT IN SERIOUS INJURY OR DEATH. 

READ THIS MANUAL 

CAREFULLY AND 

RETAIN FOR YOUR 

RECORDS 



 
 

 

CSC-2200 / CSC-4400   |  3  |   enContents 

Contents 

 

1. Safety Regulations ................................................ 4 

1.1 Warnings ....................................................... 4 

2. Foreword ................................................................ 5 

2.1 From the manufacturer ................................. 5 

3. Symbols Use .......................................................... 5 

3.1 Signal words ................................................. 5 

4. Responsibilities ..................................................... 6 

4.1 Receiving inspection ..................................... 6 

4.2 Owner and/or operator responsibilities ......... 6 

5. Specifications ........................................................ 6 

5.1 CSC-2200 & CSC-4400 models .................... 6 

6. Product Description .............................................. 7 

6.1 Component identification .............................. 7 

7. Assembly Instructions........................................... 8 

7.1 Hydraulic pump installation ........................... 8 

Manual pump ................................................... 8 

Air pump .......................................................... 9 

7.2 Hydraulic cylinder installation ...................... 10 

 

 

 

8. Operation ............................................................. 12 

8.1 Adjusting the boom ..................................... 12 

8.2 Adjusting the legs........................................ 12 

8.3 Positioning the crane .................................. 13 

8.4 Securing the load ........................................ 13 

8.5 Adjusting load height .................................. 13 

8.6 Moving the load .......................................... 14 

8.7 Folding legs for storage .............................. 14 

9. Maintenance and Inspection .............................. 15 

9.1 Inspection ................................................... 15 

Frame, chain, and hook ................................. 15 

Hydraulic component inspection ................... 15 

Air component inspection .............................. 15 

Inspect boom extension pin & leg positioning 

pins ................................................................ 15 

9.2 Maintenance instructions ............................ 15 

10. Troubleshooting .................................................. 16 

11. Maintenance Chart .............................................. 17 

12. Notes .................................................................... 19 

 

 

 

 

 

 

  



 

 
en   |  4  |   CSC-2200 / CSC-4400 Safety Regulations 

1. Safety Regulations 

1.1 Warnings 

� Failure to follow all of these safety instructions can 

lead to severe injury or death. Contact the 

manufacturer at the numbers or address printed on 

the back cover of this manual if you have any 

questions. 

� Anyone who operates this equipment must read 

and understand all the instructions and warnings 

provided with this product before being allowed to 

use it. All operators must be careful, competent, 

trained, and qualified in the safe operation of the 

product. The owner (or other responsible individual) 

must ensure that any operator observes the proper 

safety procedures for using this press at all times. If 

the operator does not read well or is not fluent in 

English, the owner / manager must read and review 

the instructions and warnings in the manual with the 

operator in the operator's native language to be sure 

that the operator will use the crane properly. 

� The owner / manager must keep this manual for 

future reference, and make sure the warning labels 

on the product are legible and intact at all times. 

Replacement labels and manuals are available from 

the manufacturer. Call the manufacturer using the 

contact information on the back cover of this manual 

if you have any questions. 

� Never overload the crane. Do not exceed the rated 

capacity marked on the unit. Overloading can result in 

equipment failure. 

� Protect hands, feet and other body parts when 

using this press. Do not allow hands, feet and all 

other body parts to pass underneath the component 

being hoisted by the crane. If this warning is not 

heeded, accidental slipping may result in possible 

serious injury and/or death. 

� Keep load as low as possible when moving the 

crane.    Raised loads will make the shop crane less 

stable due to a higher center of gravity and the 

possibility of the load swinging.    

� Do not allow the load to rock or swing more than is 

necessary.    

� Always use lifting points capable of safely carrying 

the load.... 

� Always use slow steady movements when 

repositioning the load. 

� NEVER modify the product in any way. No 

alterations shall be made to this product. 

Modifications may cause the product to perform 

improperly, resulting in injury or death. Any alterations 

to unit will void any warranty or liability of the 

manufacturer. 

� Never use aftermarket accessories on the product 

unless authorized by manufacturer. 

� Failure to understand and obey this warning may 

result in personal injury or death. 

 

  



 
 

 

CSC-2200 / CSC-4400   |  5  |   enForeword 

2. Foreword 

2.1 From the manufacturer 

Thank you for your purchase. To complement the 

offering of A/C, fluid and nitrogen service equipment, 

MAHLE Service Solutions has partnered with Gray 

Manufacturing to provide the highest quality hydraulic 

and pneumatic equipment available for the professional 

service technician. This equipment adheres to high 

standards promised in the MAHLE guarantee including 

the assurance of innovation and reliability that comes 

with the Gray Manufacturing name. Please contact 

MAHLE Service Solutions’ customer service at (800) 

468-2321 or tech.mss@us.mahle.com with any 

comments or questions. 

 

3. Symbols Use 

3.1 Signal words 

Signal words call attention to a safety message or 

messages, or a property damage message or messages, 

and designate a degree or level of hazard seriousness. 

Signal words used in this manual include: 

Keyword 
Probability of 

occurrence 

Severity of danger if 

instructions not observed 

DANGER 
Immediate 
impending danger  

Death or severe injury.  

WARNING 
Possible impending 

danger  
Death or severe injury  

CAUTION 
Possible dangerous 
situation  

Minor injury  

NOTICE 
Possible damage to 
property 

Possible property 
damage 

  



 

 

en   |  6  |   CSC-2200 / CSC-4400 Responsibilities 

4. Responsibilities 

4.1 Receiving inspection 

Before attempting to operate this equipment, thoroughly 
read and understand this manual. Completely remove all 
tape and packaging. Inspect the equipment immediately 
upon delivery. If shipping damage is evident, inform the 
delivering carrier immediately and contact the 
manufacturer using the contact information on the back 
cover of this manual. 

4.2 Owner and/or operator responsibilities 

The owner and / or user must have an understanding of 

the manufacturer’s operating instructions and warnings 

before using this equipment. Personnel involved in the 

use and operation of equipment shall be careful, 

competent, trained, and qualified in the safe operation of 

the equipment and its proper use when servicing motor 

vehicles and their components. Warning information 

should be emphasized and understood. 

The owner / manager must make this manual available to 

all personnel using this equipment at your direction. They 

must read and understand the contents of this manual. If 

the operator is not fluent in English, the manufacturer’s 

instructions and warnings shall be read to and discussed 

with the operator in the operator’s native language by 

the purchaser / owner, making sure that the operator 

comprehends its contents and observes the proper 

procedures for use of this equipment. 

Owner and / or user must study and maintain for future 

reference the manufacturer’s instructions. Owner and / 

or user are responsible for keeping all warning labels and 

instruction manuals legible and intact. Replacement 

labels and literature are available from the manufacturer. 

5. Specifications 

5.1 CSC-2200 & CSC-4400 models 

CSC-2200 models US units Metric units 

Maximum capacity (retracted) 2,200 lb 997.9 kg 

Maximum capacity (centered) 1,900 lb 861.8 kg 

Maximum capacity (extended) 1,650 lb 748.4 kg 

Max. boom height (retracted) 114 in 289.6 cm 

Max. boom height (extended) 125 in 317.5 cm 

Overall boom height (horizontal) 83 in 210.8 cm 

Boom reach (retracted) 48 in 121.9 cm 

Boom reach (extended) 33 in 83.8 cm 

Overall length 82 in 208.3 cm 

Minimum throat width 22 in 55.9 cm 

Leg length (inside) 55 in 139.7 cm 

Inside leg length pos. 1 22 in 55.9 cm 

Inside leg length pos. 2 36 in 91.4 cm 

Inside leg length pos. 3 50 in 127.0 cm 

Leg height 8.125 in 20.6 cm 

Wheel diameter 6 in 15.2 cm 

Weight 540 lb 244.9 kg 

Max. air pressure* 200 psi 13.8 bar 

Min. air pressure* 95 psi 6.6 bar 

*Specification is only applicable if unit equipped with optional 

air pump 

CSC-4400 models US units Metric units 

Maximum capacity (retracted) 4,400 lb 1995.8 kg 

Maximum capacity (centered) 3,800 lb 1723.7 kg 

Maximum capacity (extended) 3,300 lb 1496.9 kg 

Max. boom height (retracted) 119 in 302.3 cm 

Max. boom height (extended) 130 in 330.2 cm 

Overall boom height (horizontal) 84 in 213.4 cm 

Boom reach (retracted) 50.75 in 128.9 cm 

Boom reach (extended) 35.75 in 90.8 cm 

Overall length 82 in 208.3 cm 

Minimum throat width 22 in 55.9 cm 

Leg length (inside) 55 in 139.7 cm 

Inside leg length pos. 1 22 in 55.9 cm 

Inside leg length pos. 2 36 in 91.4 cm 

Inside leg length pos. 3 50 in 127.0 cm 

Leg height 8.125 in 20.6 cm 

Wheel diameter 6 in 15.2 cm 

Weight 640 lb 290.3 kg 

Max. air pressure* 200 psi 13.8 bar 

Min. air pressure* 95 psi 6.6 bar 

*Specification is only applicable if unit equipped with optional 

air pump.



 
 

 

CSC-2200 / CSC-4400   |  7  |   enProduct Description 

6. Product Description 

6.1 Component identification 

 
Fig. 1:  Shop crane component identification 

1 Chain 
2 Boom extension 
3 Boom extension holes 
4 Extension pin 
5 Boom 
6 Cylinder 
7 Leg storage bracket 
8 Pump mounting bracket 
9 Hydraulic hose 
10 Air pump (manual pump not shown) 
11 Handle 
12 Air pump mounting bracket 
13 Handle wheels 
14 Leg swivel 
15 Leg positioning pin 
16 Leg positioning holes 
17 Wheels 
18 Hook 
19 Left leg 
20 Right leg 
21 Casters 

 

 

 



 

 

en   |  8  |   CSC-2200 / CSC-4400 Assembly Instructions 

7. Assembly Instructions 

7.1 Hydraulic pump installation 

Both crane models are available with either a manually 

powered pump or an air powered pump. Please check 

the table below to ensure you have the correct pump 

model before continuing with the installation. 

Crane model # Manual pump model # Air pump model # 

CSC-2200 MP-50 AHP-50 

CSC-4400 MP-100 AHP-100 

Once you have verified that you have the correct model 

of hydraulic pump for your crane, follow the instructions 

in the appropriate section below to mount the pump on 

the crane. 

� WARNING! Use of the wrong pump model on the 

crane can cause the crane to be overloaded resulting 

in possible damage to the crane and/or sudden 

dropping of the supported load. Only use the pump 

model provided with your crane or an exact 

replacement from the crane manufacturer. Never use 

an aftermarket pump on the crane. 

Manual pump 

1. Insert the two 3/8” X 3/4” flange head bolts [#1] 

through the holes in the pump [#4] as shown in Fig. 2 

and start two 3/8” nuts [#2] onto the bolts. Only start 

the nuts [#2] one or two turns onto the bolts [#1]. 

 
Fig. 2: Manual pump installation 

2. On the opposite end of the pump [#4], insert two 3/8” 

X 1” bolts [#3] and start a 3/8” nut [#2] on each bolt. 

See Fig. 2. Only start the nuts [#2] one or two turns 

onto the bolts [#3]. 

3. Align the pump [#4] with the keyhole slots in the 

bracket [#5] on the side of crane as shown in Fig. 3. 

 
Fig. 3:  Align pump to keyhole slots 

4. Move the pump [#4] against the bracket [#5] ensuring 

that the heads of all the bolts pass through the 

keyhole slots in the bracket [#5]. 

5. Once the heads of all the bolts [#1 & #3] have passed 

through the keyhole slots in the bracket [#5] lower the 

pump [#4] so the bolts [#1 & #3] rest in the bottom of 

the slots. 

6. Tighten all four 3/8” nuts [#2] to secure the pump [#4]. 

7. Remove the shipping plug [#6] from the pump [#4] as 

shown in Fig. 4. 

 
Fig. 4:  Install breather vent plug 

8. Check the oil level in the pump. The oil level should be 

2” to 3” from the bottom of the hole. If the oil level is 

low, add hydraulic fluid equivalent to Conoco MV22 

until the level is 2” to 3” from the bottom of the hole. 

9. Install the breather vent plug [#7], provided with the 

crane, in the pump [#4] in the same hole the shipping 

plug [#6] was removed from in step 7. 

  



 
 

 

CSC-2200 / CSC-4400  |  9  |   enAssembly Instructions 

Air pump 

1. Attach the pump bracket [#8] to the bracket [#9] on 

the side of the crane using two 3/8” X 3/4” flange 

head bolts [#10] and two 3/8” nuts [#11] as shown in 

Fig. 5. Be sure to attach the pump bracket [#8] to the 

bottom set of keyhole slots in the bracket [#9]. 

 
Fig. 5:  Attach bracket to crane 

2. Mount the air pump [#12] to the pump bracket [#11] 

as shown in Fig. 6. Use two 3/8” X 1” bolts [#13] and 

3/8” nuts [#14] to secure the reservoir end of the air 

pump [#12]. The opposite end of the air pump [#12] is 

attached to the pump bracket [#11] using two 5/16” X 

3/4” bolts [#15] and two 5/16” lock washers [#16]. The 

5/16” X 3/4” bolts [#15] thread into tapped holes in 

the air pump [#12]. 

 
Fig. 6:  Mount air pump 

3. Attach the S-hook [#17] to the hole in the pump 

bracket [#11] as shown in Fig. 7. 

 
Fig. 7:  Connect s-hook to hold air hose 

4. Route the air hose [#18] through the S-hook [#17]. 

The S-hook [#17] can be closed around the air hose 

[#18], if desired. Be careful to not pinch or cut the air 

hose [#18] when closing the S-hook [#17]. Otherwise, 

the S-hook [#17] can be left open so the air hose [#18] 

can be inserted or removed from the hook as desired. 

The purpose of the S-hook [#17] is to provide a 

location to hang the air hose [#18] that prevents it 

from dragging on the floor. 

5. Remove the shipping plug [#19] from the pump [#12] 

as shown in Fig. 8. 

 
Fig. 8:  Install breather vent plug 

6. Check the oil level in the pump. The oil should be 1” 

to 1-1/4” from the bottom of the hole. If the oil level is 

low, add hydraulic fluid equivalent to Conoco MV22 

until the level is 1” to 1-1/4” from the bottom of the 

hole. 

7. Install the breather vent plug [#20], provided with the 

crane, in the pump [#12] in the same hole the shipping 

plug [#19] was removed from in step 5. 

  



 

 

en   |  10  |   CSC-2200 / CSC-4400 Assembly Instructions 

7.2 Hydraulic cylinder installation 

The directions below describe how to install the cylinder 

on the crane. The hydraulic cylinder on either model is 

installed in the same manner. 

� Any air in the cylinder [#21] must be removed from the 

cylinder for proper functioning of the crane. 

 
Fig. 9:  Connecting hydraulic hose 

1. Remove the protective cap and seal from the quick 

coupler [#22] on the cylinder [#21]. 

2. Connect the hydraulic hose [#23] to the quick coupler 

[#22] on the cylinder [#21] by inserting the male end of 

the hose [#23] into the quick coupler [#22] and thread 

the quick coupler’s collar onto the hose. 

3. Support the cylinder [#21] so the end with the quick 

coupler [#22] is higher than the rod end. Route hose 

[#23] from cylinder [#21] back to the pump so the 

hose [#23] is lower at the end that connects to 

cylinder [#21] than at the end that connects to pump. 

4. Slowly extend cylinder rod from cylinder [#21] by 

closing the release knob and actuating pump until 

cylinder rod is fully extended. After cylinder rod has 

been extended, open the release knob and hold 

cylinder so the quick coupler fitting is on the upper 

part of the cylinder and the cylinder rod is pointing 

down. Carefully push the rod into cylinder until it is 

fully retracted. Repeat this process to ensure there is 

as little air as possible left in cylinder. 

� WARNING! Any operation of the cylinder while 

detached from the crane must be done carefully. If the 

cylinder is extended too quickly or is pressurized to 

much it poses the possibility of hitting someone, 

moving unexpectedly, or breaking apart and may lead 

to property damage, serious personal injury, and/or 

death. 

5. Disconnect the hydraulic hose [#23] from the quick 

coupler [#22] once all the air has been purged from 

the cylinder. 

6. Mount the rod end of the hydraulic cylinder [#21] to 

the cylinder mounting bracket [#24] located on the 

boom by aligning the cylinder’s hole with the holes in 

the mounting bracket and insert the 3/4”upper 

cylinder retaining pin [#25] as shown in Fig. 10. 

 
Fig. 10:  Install cylinder retaining pin 

7. Place a 3/4” washer [#26] onto retaining pin [#25] and 

then snap a 3/4” retaining ring [#27] into the groove 

on the retaining pin [#25] and push the retaining pin 

[#25] until retaining ring [#27] stops its travel. 

8. On the opposite side of the retaining pin [#25], place 

the other 3/4” washer [#26] onto the retaining pin 

[#25] and then snap the other 3/4” retaining ring [#27] 

into the groove on the retaining pin [#25] as shown in 

Fig. 11. 

 
Fig. 11:  Install snap ring 

9. Align the hole on the quick coupler end of the cylinder 

[#21] with the holes of the cylinder mounting plates 

[#28], lifting the boom if necessary and making sure 

that the hydraulic hose quick coupler fitting is pointing 

away from the frame of the crane as shown in Fig. 12. 

Insert the 1” lower cylinder retaining pin [#29] into the 

aligned holes and adjust so that an approximately 

equal length protrudes from each of the mounting 

plates. Place a 1” washer [#30] onto each side of the 

retaining pin and snap a 1” retaining ring [#31] into 

each of the grooves in the retaining pin. 



 
 

 

CSC-2200 / CSC-4400  |  11  |   enAssembly Instructions 

 
Fig. 12:  Point hydraulic hose quick coupler away from frame 

10. Insert the hydraulic hose [#23] into the cylinder’s 

quick coupler [#22] and thread the quick coupler’s 

collar onto the hose (Fig. 13). 

 
Fig. 13:  Insert hydraulic hose into quick coupler 

 

  



 

 

en   |  12  |   CSC-2200 / CSC-4400 Operation 

8. Operation 

� This section discusses the appropriate and safe 

methods for using the Shop Cranes. 

� It may be necessary for some or all of the following 

steps to be completed using two people. 

8.1 Adjusting the boom 

1. To adjust the boom’s extension length between the 

crane’s three boom positions, the extension pin must 

first be removed from the boom. 

 
Fig. 14:  Boom components 

1 Boom extension 

2 Boom 

3 Extension pin 

4 Boom extension hole 

2. After the extension pin is removed, slide the boom 

extension in or out of the boom until the desired 

position is reached. 

3. The extension pin must then be inserted into the 

boom extension holes that are in line with the boom’s 

pin holes before the crane is operated further. The 

capacity of the crane in each of the extension 

positions must be noted prior to attaching a load and 

that capacity must not be exceeded. 

� WARNING! The crane’s extension pin must be in 

place before operating the crane and the capacity for 

that extension position must not be exceeded. 

Operating the crane without the extension pin or with 

a load that exceeds capacity may result in equipment 

failure leading to property damage, serious personal 

injury, and/or death. 

8.2 Adjusting the legs 

1. If not already lowered, the crane’s legs must both be 

lowered so the casters rest on the floor prior to using 

the crane to lift a load. 

 
Fig. 15:  Leg adjustment 

1 Leg positioning pin 

2 Leg positioning holes 

3 Left leg 

� WARNING! Lifting a load with the crane while either 

of the legs is in the folded position could cause 

instability of the crane. The crane may tip or fall over 

causing property damage, serious personal injury, 

and/or death. 

2. To adjust the spread of the crane’s legs, the leg 

positioning pin must be removed from each leg that is 

to be repositioned.  

3. Each leg can then be swiveled into the desired 

position of the three possible positions. The leg 

positioning pin from each repositioned leg must then 

be inserted into the leg positioning holes and through 

that leg’s pin holes. 

� WARNING! Failure to properly insert the leg 

positioning pin into each leg can cause instability in 

the crane and may lead to property damage, serious 

personal injury, and/or death. 

  



 
 

 

CSC-2200 / CSC-4400   |  13  |   enOperation 

8.3 Positioning the crane 

� After the crane has been properly adjusted, it can be 

moved in to position to secure the intended load. The 

crane must be able to freely roll into position and all 

potential obstacles must be carefully negotiated or 

moved. When positioning the crane, always consider 

the way in which the load will be secured to the crane. 

The crane’s chain, or other adequate load capturing 

device that meets or exceeds the capacity of the 

crane in its given position, must be located directly 

over the intended load before attempting to secure 

the load. It is important to the safety of the crane 

operator and other personnel that the path of the 

crane is carefully planned, both before and after 

securing the load. 

� WARNING! Contacting any obstacle, including 

overhead obstacles, with the crane can make the 

crane jump or shift which can cause the load to swing 

or rotate dangerously and may lead to property 

damage, serious personal injury, and/or death. 

8.4 Securing the load 

Once the shop crane has been positioned, the load must 

be secured utilizing an adequate capturing device, such 

as a load leveler, chain, or sling, capable of sustaining 

the load. The load must be secured by using attachment 

points that are adequate for holding the weight of the 

load and allow the load to be lifted without shifting or 

rotating. Ensure that the hook and chain assembly or 

other adequate load capturing device is directly above 

the load to be raised. Pay careful attention to how the 

load will react when raised. If the center of gravity of the 

load is not directly under the crane’s capturing device, or 

the load is awkwardly captured, the load and crane may 

swing or rotate dangerously. 

� WARNING! Ensure that the load is properly secured 

before attempting to lift or move it. If the load is 

improperly secured it can unexpectedly fall, swing, or 

rotate dangerously    which may lead to property 

damage, serious personal injury, and/or death. 

8.5 Adjusting load height 

The hydraulic pump is used to adjust the height of the 

load. 

 
Fig. 16:  Adjusting load height 

1 Hydraulic pump 

2 Release knob 

1. To raise the load, the release knob on the pump must 

be closed by turning the knob clockwise until it is 

finger tight. 

2. The pump can then be actuated by working the 

handle on the manual pump or activating the air valve 

on the air hydraulic pump, depending on which type 

of pump is installed. 

3. While the pump is actuated, the cylinder will extend 

raising the boom and load. 

4. To lower the load, the release knob must be opened 

by SLOWLY turning the knob counter-clockwise. This 

will lead to retraction of the cylinder and lowering of 

the load. 

5. Once the load is at the desired height, the release 

knob must be closed in order to keep the load at that 

height. 

� WARNING! Lowering or stopping the load too quickly 

can cause the load to swing or rotate dangerously 

and may result in property damage, serious personal 

injury, and/or death. This crane is not intended for 

overhead lifting. Do not allow the crane’s load or 

boom to be above any body part. If the load were to 

fall, it would cause serious personal injury or death. 

  



 

 

en   |  14  |   CSC-2200 / CSC-4400 Operation 

8.6 Moving the load 

Before and while SLOWLY moving the crane, pay close 

attention to the crane’s immediate surroundings. Ensure 

that all obstacles are moved from the crane’s path and 

do not neglect to consider the boom’s overhead path as 

well as the path that the legs will follow on the floor. 

Before moving the crane and load, position the load at 

its lowest possible height. Once any height restricting 

obstacles (i.e. engine compartment) have been cleared 

by the load, stop and reposition the load to its then 

current lowest possible height and continue doing so 

until all obstacles have been cleared. After the load has 

been successfully moved to the desired location, it 

should be lowered on to or attached to a surface or 

device (i.e. engine stand) that will adequately support the 

load. 

� WARNING! The crane is designed for lifting, moving, 

and lowering a load and is not intended to hold or 

support a load for extended periods of time. Moving 

or stopping the crane too quickly or recklessly can 

cause the load to swing or rotate dangerously and 

may result in property damage, serious personal 

injury, and/or death. 

8.7 Folding legs for storage 

After the load is removed from the crane, the crane’s 

legs can be folded up for storage. 

1. Remove the leg positioning pin from each of the 

crane’s legs. 

2. Rotate the legs outward until they clear the crane’s 

frame. 

3. Separately lift each of the legs and rotate them until 

they are vertical. Insert the leg positioning pin into 

the leg and then through the leg storage bracket as 

shown in Fig. 17. Ensure that the pin has secured the 

leg onto the leg storage bracket and that the leg 

positioning pin is fully inserted into the leg. 

 

Fig. 17:  Folding legs for storage 

1 Leg positioning pin 
2 Right leg 
3 Leg storage bracket 

� WARNING! Failing to properly secure the legs can 

cause the legs to fall unexpectedly and may result in 

property damage, serious personal injury, and/or 

death. 

  



 
 

 

CSC-2200 / CSC-4400   |  15  |   enMaintenance and Inspection 

9. Maintenance and Inspection 

� WARNING - The owner must inspect, or appoint a 

knowledgeable person to inspect the product. Visual 

inspection should be made before each use the 

equipment, checking for abnormal conditions. Regular 

inspections should be made weekly for daily use and 

monthly for intermittent use. In addition to the visual 

inspection, the inspector should also operate the 

press to assist in identifying any problems that may 

exist. Contact the manufacturer using the contact 

information printed on the back cover of this manual. 

9.1 Inspection 

Equipment must be removed from service and inspected 

for damage immediately if subjected to an abnormal 

shock or load. Failure to heed this warning may result in 

personal injury and / or property damage. 

Frame, chain, and hook 

� Check crane for corrosion, cracked welds, or any 

other damage such as cracks, chips, dents, marring, 

or other deformation. If any corrosion or damage is 

discovered, immediately remove crane from service 

and contact the manufacturer using the contact 

information found on the back cover of this manual. 

� Check the crane’s chain and hook or other load 

capturing device for corrosion or any damage such 

as cracks, chips, dents, marring, or other 

deformation. Keep all load capturing devices of the 

crane in good working order. If they are damage or 

are excessively corroded, replace. Use only devices 

supplied by the manufacturer of the crane. 

Hydraulic component inspection 

� Inspect hydraulic hose and fittings for any signs of 

wear, damage, or oil leaks. Never use a damaged 

hose or fittings. 

� WARNING! Never bend the hydraulic hose through 

less than a 5 inch radius. 

� DANGER!DANGER!DANGER!DANGER! Keep the hydraulic system away from 

flames and heat. Never impact the hydraulic system in 

any way. 

� Make sure the release knob operates properly. 

� Inspect the cylinder and ram for any signs of wear, 

damage, or oil leaks. The ram should be straight 

without any gouges, scratches, or marks. The cylinder 

must be free of dents, gouges, or other damage. 

Never use a cylinder that is damaged in any way. 

Air component inspection 

� WARNING! This press is designed to operate with air 

pressure of 95 psi to 200 psi. Never exceed this rating. 

� Check the airline and fittings for signs of wear, 

damage or leaks. Replace airline if any damage is 

found. 

� Make sure the air valve is working properly. To 

prevent the risk of serious injury, the ram must stop 

immediately when the air valve is released. 

Inspect boom extension pin & leg positioning pins 

� Inspect the boom extension pin and leg positioning 

pins for any signs of damage. The pins must not be 

bent, cracked, corroded, or excessively worn. 

� WARNING! Never use pins that show any sign of 

damage. Using damaged pins can cause the pins to 

fail resulting in a sudden drop of the bolster and/or 

instability of the crane causing personal injury and/or 

property damage. 

� If any irregularities or problems are detected during an 

inspection, the crane must be removed from service 

immediately and repaired. Contact the manufacturer 

using the contact information on the back cover of 

this manual. 

� If crane is overloaded, take the crane out of service 

immediately and inspect. Replace any damaged 

components by contacting the manufacturer using the 

contact information on the back cover of this manual 

9.2 Maintenance instructions 

� WARNING - All inspection and maintenance 

procedures must be performed after the product has 

been removed from service. Failure to do this may 

result in personal injury and/or property damage. 

All maintenance and lubrication procedures must be 

performed every 2 months. To properly maintain the 

press, perform the following procedures: 

� Lightly oil all pins to prevent corrosion. The pins that 

must be oiled are the leg positioning pins, boom 

extension pins, and the cylinder retaining pins. 

� Lightly oil the chain, hook, and any appropriate part 

of other load capturing devices to prevent corrosion. 

� If equipped with the air pump, add a few drops of air 

tool oil to the air line and operate the pump. This will 

help lubricate the air piston and prevent moisture in 

the air line from corroding the inside of the air motor. 

� Inspect the condition of all decals on the crane. They 

should be legible and easy to read. If they become 

hard to read, replace them immediately. 



 

 

en   |  16  |   CSC-2200 / CSC-4400 Troubleshooting 

10. Troubleshooting 

This section is a list of potential problems and solutions. 

If the solution listed fails to correct the problem, call the 

manufacturer at the numbers and address printed on the 

back cover of this manual. Please have the model 

number, and serial number of your unit available. 

Problem Cause/Solution 

Air motor won’t run (if 

equipped with air 

pump) 

• Airline leaks-locate and correct leaks. 

• Air piston sticking or stuck-add oil to air 

inlet to lubricate piston. 

• Inadequate air pressure-requires at least 

95psi to generate rated load. 

Cylinder will not 

extent 

• Check level of oil in reservoir.  If necessary 

add a high-grade hydraulic fluid equivalent 

to Conoco MV22 Super Hydraulic Oil.  

Refer to the “Hydraulic pump installation” 

section for instructions on adding oil. 

Cylinder rod does not 

extend/retract 

smoothly 

• Air in hydraulic cylinder. Follow the steps 

in the “Hydraulic cylinder installation” 

section to purge the air from the cylinder. 

The cylinder will need to be removed from 

the crane, purged, and then reinstalled as 

described in the “Hydraulic cylinder 

installation” section to properly remove the 

air. 

 

 



 
 

 

CSC-2200 / CSC-4400   |  17  |   enMaintenance Chart 

11. Maintenance Chart 

Action Date Details 
Person 

responsible 

Receiving inspection  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

 



 

 

en   |  18  |   CSC-2200 / CSC-4400 Maintenance Chart 

Action Date Details 
Person 

responsible 

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  



 
 

 

CSC-2200 / CSC-4400   |  19  |   enNotes 

12. Notes 

  



 

 

en   |  20  |   TSL-50 

6
7
0
-9

0
7

6
8

 

     

 

 

  

MAHLE Aftermarket Inc. 

10 Innovation Drive 

York, PA 17402 U.S.A. 

 

Phone: (800) 468-2321 

Fax: (717) 755-8304 

E-mail: tech.mss@us.mahle.com 

 

www.servicesolutions.mahle.com 


